ooo ooo 20070 90 30 20 0O
DDDB(DD) g go oooo 900
Oooo [oooo | — ooooooo

oo 00 oo 00o0O00o0oooog

cooooooooooboooobooooOoOoOoooo

y
1. zy0000 F= —kr0000000000mO0 %é*

0000000000r,000¢0000000000 Yo
Or=(z(t),y(t) 0000kO00O0D00DO0DOO0

00000oooooooooooood »=(0,yo),

d
DDDDDszﬁgzhmMDDDDDDDDD
0oooon

(1) 000000L, 000000 TOOOO0O000MOOO000000 kO
000 LTMOOOOOOO

(2) 000 FOOOOOOOOO
(3) 000 FOOOODOOO U(z,y)0000D0

(4) 0000000000000 O000000000000000 000
yooooOoOooooooooooo

goooooo0oooooboooooooo
0000000002002 000¢0000000000DODOO0
ooooooooooooon

) bO0OO00OOooboooooOot«toooooooooo

9 0000000oooooooOoOoOo+«boboObOO0OO000O

(10) DO0DO0O0O0DO0O0OO0O0O0O0O0DO+:t000D00D0O000

(1) oOooUoooOooOooooo

(I2) oOooODOODOOOOODOUOOOO

(5)
(6)
(7)
(®)
9)
)
)
)

2.0000000000000000000

(1) 0000000000000 000000000DO0DO0DO0D0ODOD
oov

(2) 0000 ARODODOOOODOOODOOOOOOOWwOOOOOODOOOO
ooooooOooooooOoO0oO0oO0O0ooooOO0oO0O00o0oooooOooo0o000
ooov?

3 00mi00DO00O0O0D0O00O000O00DO0000D00D¢+00000
0000007 = (acoswt,asinwt,0)000000e,wd00000000
oooooooooooooooor

(4 0000000000000 o0300000000000oUoUoUo
oooooooooo?

(5) DOO0OO0ODO0OO0OOO00O0OO0ODOU00O0OOOUO0O0ODUOooOoOO
ocooboooooooooooo?

(6) D000O0O0O0DO0OO0OO0O00O00O00000DO0OO0D0O0O0O000
goooooOoOooooooOoOoooooOoOooDooooOooooogoor?

(7)200000000000000000000000O0O0O0OO0OOOOO
oopooooooooog?

() oOODO0O0DDOOO0O0DO0OO0ODOOO0DDO0OO0DOOOODDOO
0000o00oOo0oooro0oo0oooooo

(9 0DoOoO00O0O0O00O0D0D0O0DO0O0DDO0O0DOOOODOOOOn?

(10 boOooOO0OO0O0ODOU0O0O000O0O0O00DO0OO0ODOUOOO0OOOOODOn
oooooobooooooooooooooboobooooooobooboOoooo
goooooooooo?

3. 000000100000000000

() DooOoo0OoUOoUO0ODO0O0O0o0OoUOoUObDO0OOO0OOOoUoOUO
(2) D00DO0D0O0OOUOOUODOOODOOOOOOODOODOOD

(3 D0oO0o0Oo0OO0o0UO0ODO0O0O0O0o0O0O200000000000000000
oooooooooooooboooo20b0000000000O00b0000
boooooobooooobooboooobobo

(4 0000000000000 0O00O0OC00O0ODOO0O0ODOO0OOOOOOO
gbooooobooboooooboooboobooboboooboooobo
ooooog

777%

7

4. 00000000000O0DOCOOO0O0DOOOOODOOOOODOOOOODOO0OO0
goobooooooboooooooboboooooooboobooooDooDbo



